Thu, Sep 19, 2019 MATH 450A Quiz 3
Name: (print) W '

Each problem is worth 2 points. Show all your work.

1. Determine a value § > 0 so that for the given value of ¢, the statement “|f(z) —L| <e

whenever 0 < |z —a| < §” is valid:

f(z) = (z® + 1)/(:3 +1), a=-1, L=3, £=0.0L
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2. Prove by induction: if a > 0 and n € N then (1 + a)" > 1+ na. ) |
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Please turn over...



3. Suppose f and h are continuous at a and f(z) < g(z) < h(z) for |z —a| < k. If
f(a) = h(a) show by an e-6 argument that g is continuous at a.
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